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QUESTION 1

Instead of supplying an explicit device in /etc/fstab for mounting, what other options may be used to identify the intended
partition? (Choose TWO correct answers.) 

A. FIND 

B. ID 

C. LABEL 

D. NAME 

E. UUID 

Correct Answer: CE 

 

QUESTION 2

Which of the following commands can be used to create a USB storage media from a disk image? 

A. gdisk 

B. dd 

C. cc 

D. fdisk 

E. mount 

Correct Answer: B 

 

QUESTION 3

A user accidentally created the subdirectory \dir in his home directory. Which of the following commands will remove
that directory? 

A. rmdir \\'~/\dir\\' 

B. rmdir "~/\dir" 

C. rmdir ~/\\'dir\\' 

D. rmdir ~/\dir 

E. rmdir ~/\\dir 

Correct Answer: E 
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QUESTION 4

During a system boot cycle, what program is executed after the BIOS completes its tasks? 

A. The bootloader 

B. The inetd program 

C. The init program 

D. The kernel 

Correct Answer: A 

 

QUESTION 5

After successfully creating a hard link called bar to the ordinary file foo, foo is deleted from the filesystem. Which of the
following describes the resulting situation? 

A. foo and bar would both be removed. 

B. foo would be removed while bar would remain accessible. 

C. foo would be removed. bar would still exist but would be unusable. 

D. Both foo and bar would remain accessible. 

E. The user is prompted whether bar should be removed, too. 

Correct Answer: B 
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